GN 817 nox

Steel

a B H

- AISI303 45 4 A 4%,

- AISI3034T 22 8 B W # .,

= B8k REREPA)E RS R, X ER L4 (B, BK
), BOEH. AL, HE DA KRR

RERERT ARAORE AN, T REREC, CKR), ™
BARL P, bR AR R E AR,

R HAA(G, CKR), TREFFERA a4, SFFEANTHheE

w /L8 R A B
i

TR A,
GN 8174 EHEAH T A
-~ SN EHOERAR M HTEW),
;  BECLARIIE,
B sasscaymaris
R R O RR LKA,
CRLERWEERY, RTHAEANFSEHKEZLE AN G E, B Al BK #
Frbh, A Faha, FrE®0°, 28— Mo, U D
A AT R R AR TR 55, ] gy
i ' —
——
—
! s
L | ~ |
1 r
Y |
= |
A
i d —ily——
d1
) A i =R wEEH | B2
A 2 d2% | & d d D | hmn 2 1B 1 s T[ﬁNE]E ﬁ?ﬁﬁ -
GN 817-4-4-B-Ni| 4 19 M8x1 - ~ 16 16 4 5 10 45 12 11
GN 817-4-6-B-Ni 4 19  MB8x1 . 16 16 6 5 10 4 125 | 11
GN 817-5-5-B-Ni 5 22 M10x1 - . 19 18 5 6 12 5 15 19
GN 817-5-8-B-Ni 5 22 M10x1 - . 19 18 8 6 12 5 18 19
GN 817-6-6-B-NI 6 26 MI2x15 - . 23 22 8 6 14 6.5 19 32
GN 817-6-9-B-Ni 6 26 MI2x15 - .23 22 9 6 14 6 25 32
GN 817-8-8-B-Ni 8 32 MI6x15 - . 28 26 8 8 17 8.5 26 68
GN 817-8-12-B-NI 8 32 MI6x15 - . 28 26 12 8 17 8.5 28 67
GN 817-10-12-B-NI | 10 32 M16x15 - . 28 26 12 8 17 9.5 38 69
GN 817-4-4-BK-NI 4 19 M8x1 - . 16 16 4 5 10 45 12 12
GN 817-4-6-BK-NI 4 19 M8x1 - . 16 16 6 5 10 4 125 | 12
GN 817-5-5-BK-NI 5 22 M10x1 - . 19 18 5 6 12 5 15 20
GN 817-5-8-BK-NI 5 22 M10x1 - . 19 18 8 6 12 5 18 20
GN 817-6-6-BK-NI 6 26 MI2x15 - . 23 2 B 6 14 6.5 19 33
GN 817-6-9-BK-NI 6 26 MI2x15 - .23 22 9 6 14 6 25 33
GN 817-8-8-BK-NI 8 32 MI6x15 - . 28 26 8 8 17 8.5 26 69
GN 817-8-12-BK-NI| 8 32 M16x15 - . 28 26 12 8 17 8.5 28 69
GN 817-10-12-BK-N| 10 32 M16x1.5 - . 28 26 12 8 17 9.5 38 71

@ Iele‘a,'.nnnl‘in“ “ELESA" and “GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




C # CK # G #l GK #
(77 o % Bt T 44 (7 i % it 7T )
e % 90°)
d2

[ S S e S S e S

i1

-\
AR
T11

1

L

o™ T
[ % s S e

O N ™
[ S S e

. . . -

i 0 i =R WwEESH | B2

B 2 4% | & d& d5 D 1 hmn 2 1B l& s "ﬁﬁj ﬁfﬁﬁ :
GN 81744-CNI 4 19 Mex1 - -~ 16 16 4 5 : =10 4.5 12 12
GN 817-4-6-CNI 4 19 Msx1 - . 16 16 6 5 : T 4 125 | 13
GN 817-55-C-NI 5 22 M1 - - 19 18 5 6 : Y. 5 15 | 21
GN 817-58-CNI 5 22 MIOX1 - . 19 18 8 6 : .12 5 18 | 22
GN 81766-CNI 6 26 MI2x15 - . 23 2 6 6 : .14 6.5 19 | 35
GN 8176-9-CNI 6 26 MI2x15 - .23 2 9 6 : - 14 6 25 | 36
GN 817-8-8-CNI 8 32 MI6x15 - . 28 2% 8 8 : .7 8.5 % | 73
GN 817-8-12-CNI 8 32 M16x15 - . 28 26 12 8 : .17 8.5 28 | 71
GN 817-10-12-C-NI 10 32 Mi6x15 - . 28 2% 12 8 : -7 9.5 38 | 74
GN 817-44-CK-NI 4 19 Mex1 - . 16 16 4 5 : .10 4.5 12 13
GN 817-4-6-CK-NI 4 19 M8l - . 16 16 6 5 : .10 4 125 | 13
GN 817-5-5-CK-NI 5 22 M1OX1 - - 19 18 5 6 : Y. 5 15 | 22
GN 817-5-8-CK-NI 5 22 M10X1 - - 19 18 8 6 : .12 5 18 | 22
GN 817-6-6-CK-NI 6 26 MI2X15 - . 23 2 6 6 : .14 6.5 19 | 36
GN 817-6-9-CK-NI 6 26 MI2x15 - . 23 2 9 6 : .14 6 25 | 37
GN 817-8-8-CK-NI 8 32 M16x15 - . 28 2% 8 8 : .7 8.5 % | 75
GN 817-8-12-CK-NI 8 32 MI6x15 - . 28 26 12 8 : .7 8.5 28 | 72
GN 817-10-12-CK-NI 10 32 M16x1.5 - - 28 26 12 8 - - 17 9.5 38 77
GN 817-44-G-NI 4 19 M8x1 M3 7 16 16 4 5 45 25 10 4.5 12 10
GN 8174-6-G-NI 4 19 M8x1 M3 7 16 16 6 5 45 25 10 4 125 | 10
GN 81755-G-NI 5 22 MIOXI M4 8 19 18 5 6 55 3 12 5 15 17
GN 817-58-G-NI 5 22 MIOX{ M4 8 19 18 8 6 55 3 12 5 18 17
GN 81766-G-NI 6 26 MI2I5 M5 9 23 22 6 6 7 35 14 6.5 19 | 29
GN 8176-9-G-NI 6 26 MI2I15 M5 9 23 22 9 6 7 35 14 6 25 | 29
GN 817-8-8-G-NI 8 32 MIBXI5 M6 10 28 26 8 8 85 4 17 8.5 % | 61
GN 817-8-12-G-NI 8 32 MIGx15 M6 10 28 26 12 8 85 4 17 8.5 28 | 60
GN 817-10-12-G-NI 10 32 M16x1.5 M6 10 28 26 12 8 8.5 4 17 9.5 38 62
GN 817-4-4-GK-NI 4 19 M81 M3 7 16 16 4 5 45 25 10 4.5 12 11
GN 817-4-6-GK-NI 4 19 M8x1 M3 7 16 16 6 5 45 25 10 4 125 | 11
GN 817-5-5-GK-NI 5 22 MIOXI M4 8 19 18 5 6 55 3 12 5 15 18
GN 817-5-8-GK-NI 5 22 MIOXI M4 8 19 18 8 6 55 3 12 5 18 18
GN 817-6-6-GK-NI 6 26 MI2I5 M5 9 23 22 6 6 7 35 14 6.5 19 | 30
GN 817-6-9-GK-NI 6 26 MI2I15 M5 9 23 22 9 6 7 35 14 6 25 | 30
GN 817-8-8-GK-NI 8 32 MIBXI5 M6 10 28 26 8 8 85 4 17 8.5 % | 62
GN 817-8-12-GK-NI 8 32 MIBXI15 M6 10 28 26 12 8 85 4 17 8.5 28 | 62
GN8171012-GK-NI | 10 32 M1ex15 M6 10 28 26 12 8 85 4 17 9.5 38 | 64

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesaGANTER




